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506 1% #

C #»* SUBRQUTINE SHACLVHM =xx

**x ARGUMENTS FOR SUBROUTINE SH/ A
ISHACM:NAME OF LATA AREA FOR ORICINAL LATA 1 TWO-TIMENSIONS
Q $O0RIGINAL SIZE OF ROV OF ISHAZY

Jo tORIGINAL SIZE CF COLUMN OF ISHAZD:H

Ia tACTUAL SIZE OF ROY OF ISHALI

JA tACTUAL SIZE QOF COLUMN OF ISHACH

1B $1NAME OF CATA AREA FOR NEXT ROW OR COLULN

T3 BE PLOTTED

1c tNAME OF LATA AREA FOR FORMER ROV OR COL PLOTTED
ID tNAME OF CATA AREA FOR SIGNAL OF PEN STATE(UP GR DOWN)
JAIX :QRIGINAL SIZE OF IB, 1C ANL IL

N sCIFFERENCE IN X-CIRECTION BETVEEN NEIGHBORING ROVS

1 $DIFFERENCE IN Y-LIRECTION BETVEEN NEIGHBORING ROWS

x :AMPLITUDE FOR X-DIRECTION

3AMPLITUDE FOR Y-TIRECTION

ICa 3SIGNAL WHICH IMPLIES EITHER TO PLOT A GRADUATION IN
Y-DIRECTION OR NOT ¢ ALL -1, SELECTIVE:O, NOT31 )

It 1SIGHNAL WHICH IMPLIES EITEER TO PLOT ZERO-LINE OR NOT
¢ YESI1, NOT30 )

1E $NAME OF DATA AREA FOR COLUMN NO. TO PLOT A GRADUATION
IN Y-DIRECTION

IDOT :SIGNAL WHICH IMPLIES EITHER SOLIC LINE OR BROKEN LINE
IN PLOTTING A GRATUATION IN Y-TIRECTION

¢ SOLID LINE;O, BROKEN LINE31 )

LD tLENGTH OF PEN DOWN IN BROKEN LINE

LU tLENGTH OF PEN UP IN BROKEN LINE

IPLOTM:SIGNAL UHICH IMPLIES HOW MANY TIMES TO PLOT THE SAME
ROV OR COLUMN

acaoanoan0anNa0O0nNNn000000an000n
2

SUBROUTINE SHADWM(ISHAIM,10,J0,1A,JA.1B,1C,10,JAIX,N, M,
*1X,1Y,1CA,1I,1E,IDOT,LE,LU, IPLOTM)
DIMENSION ISHADM(10,J0),IBC(JAIY),1CCJALIX),ID(JALX),1ECJA?
JAMIX=(JA-1)%]X+]
DO ! I=l.IA
1Al=1A-1+1
1BC1)=1SHADMCIAL,1)#1Y
DO 2 J=2,0A
ITi=(J=1)%1IX+1
IBCITI)=ISHADMCIALL,J)*1Y
1T2=IT1-1X
DO 3 K=1,1X-1
IBCIT2+K)=IB(IT2)+(IBUITI)-IB(IT2))*K/IX
3 CONTINUE
2 CONTINUE
DO 21 ITI=1,JAMIX
.IFC(I1.NE.O) GO TO 9
IFC(IBCITI)«NE.O) GO TO 9
IDCITI)=]
GO0 TO 21
9 1DCITI)=0
21 CONTINUE
IFC(I.EQ.1) GO TO 38
IF(N«LT«0) GQ TO 4
ITi=Ne+1
1T2=JAMIX
GO TO S
4 ITt=}
1T2=JAMIX+N
S D0 6 J=IT1,IT2
1FCIB(JI+M.GE.I1CCJ=N)) GO TO 6
IB(J)=I1CCJ-N)-M
1DCJr=1
6 CONTINUE
BACK(80)
. DRIVE(80,-N,M)
38 IPLOTD=IPLOTM
8 POINT(80,0,0)
IPLOTD=IPLOTD-1
1BI=1B(1)
DRIVE(80,0.,1B1)
ICC1)=IB(1)
1PS=}
DO 7 J=2,JAMIX
IC¢JI=1B(Y)
1BC=1B(J)~1BC¢J-1)
IFCID(JIZEQ.1) GO TO 22
1FCIPS.EQ.0) GO TO 23
1PS=0
PDOWN (80)
PDOWN (80)
GO TO 23
22 IF(IPS.EQ.1) GO TO 23
IPS=]
PUP(80)
23 DRIVE(80,1,1BC)
7 CONTINUE
IFCIPLOTD. EQ.0) GO TO 36
BACK(80)
GO TO 8
36 PUP(80)
DRIVE(80, -JAMIX,0),1
ISHADMCIAL, 1)=1B¢1)
DO 20 J=2,JA
ITL=CJ-1)*IX+1
1SHADMCIAL, J)=IB(ITL)
20 CONTINUE
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CONTINUE

BACK(80)
IFCICA«2Q.1) GO TO 19
IAMM=C(IA-1)%M+]
NA=ABS Q)

INX=1X

IF(N.GE.Q) GO TO 10
INX=-1X

ITI=JAMIX-1
DRIVE(80,1T1,0)
POINT(80,0,0)

DO 11 1=1,JA
IF(N.GE.0) GO TO 12

IAI=JA~1+1
GO TO 13
lal=1

IBCI)=1SHADM(1,1AL)

DO 14 J=2,1A
ITI=(J=1)sM+1
IBCITI)=ISHADMCJ, LAL) - (J- 1) %1
1T2=1T1-M

DO 15 K=l,M-1
IBCIT24K)=1BC(IT2)+(IBCITI)-IB(IT2))*K/M
CONTINUE

CONTINUE
IFCIECIAIY.EQe1) GO TO 27
DO 29 J=1,1AMM

I1DtJ)r=1

CONTINUE

DO 24 J=1,1AMM
IF(I1.NE.O) GO TO 28
IFC(IB(d)+J~1«NE.O) GO TO 28
I1DCJI=1

GO TO 24

ID¢JI=0

CONTINUE

IFC(I.EQel) GO TO 17
IF(N.EQ.0) GO TO 3l
INA=IX*M/NA

DO 16 J=1,IAMM-INA
IF(IB(J)«EQ.ICCJ+INA)) ID(J)=}
CONTINUE

BACK(80)

DRIVE(80, INX,0)
IF(IE(IAI)«EQ.0) GO TO 39
IF(IDOT«EQ.0) GO TQO 39
1DOTD=0 .

1D0TU=0

ICOVN=0

DO 32 J=1,1AMM
IFC(ICCJ)-EQ.0) GO TO 34
1LOWN=0

GO TO J2

IFCIDOWNe EQe0) GO TO 35
IDOTU=IDOTU+1

1Deo)=l

IFCIDOTU.LT.LU) GO TO 32
1D0TU=0

1DOWN=0

GO TO 32

1DOTD=100TD+1
IFCICOTD.LT.LD) GO TO 32
I1D0TD=0

IDOWN=1

CONTINUE

IPLOTD=IPLOTM
POINT(80,0,0)
1PLOTD=1PLOTD-1
IB1=1IBC1)
DRIVE(80,0,1IB1)
ICCII=IBC(L)

1P5=1

DO 18 J=2,1AMM
1CCJI=IBW)
1F(IECIAL).EQ.0) GO TO 18
IBC=IB(J)-1BCJ-1>
IBX=J*N/M=(J=1)%N/M
IFCID(JY. FQ.1) GO TO 25
IFCIPS.EQ.0) GO TO 26
1PS=0

PDOWN(BO)

PDOWN (80)

GO TO 26

IF(IPS.EQ.1> GO TO 26
1PS=1

PUP(80)

CRIVE(80, IBX,1BC)
CONTINUE

IFC(IPLOTD.EQ.0)> GO TO 37
BACK(80)

GO0 TO 30

PUP(BO)

IFC(IECIAI) - EQ.0> GO TO 11
I1BX=-1AMMSN/M
DRIVE(B0, IBX, IAMI), 1
CONTINUE

BACK(80)

RETURN

END

-2 SUBROUTINE SHADWM
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C *»% HSUDAD *#*

CIMENSION IACS,21,31),18¢5,21,31),1AC(21,313,18C(21,31),

*1P(3001),1Q(3001),IR¢3001),1EC31)

109

OPEN |
WRITE(1,109)
FORMAT(IH , *%%% HSULAO »*=',/,1Hd ,'TATA TAPE ; HSULAL.9-

*QUTPUT PLEASE®)
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101
102
103

104

105

106

*))

108

112

113

119
120
118

125

117

REAT(1,102)ICA
WRITE(1,128)
FORMAT(JH , *NO«
REALC1,102)NDT
OPEN 4

DO 11 MNLT=1,NLCT
READ(1,102)ICA
Lo 1 1=1.,20
READC4,110) (TA(MNET,15d),J=1,15)
FORMAT(1514)

REACC4, 111D CIACMNET, 1,U2,J=16,31)
FORMAT(1614)

CONTINUE

DO 2 I=1,20

READ(4, 110) (IB(MNLT,1.d),Jd=1,15)
REAL(4, 111> (IB(MNCT,1.,4),J=16,31)
CONTINUE

CONTINUE

CLOSE 4

OPEN 80

LO 12 MNLT=1,NCT

0 S 1=1,20

D0 6 J=1,31
1AC(1,J)=IA(MNET, I, J)
1BC(1,J)=1B(MNCT,1.,J)
CONTINUVE

CONTINUE

IF(MNCT.GT.1> GO TO 3
WRITE(1,101)

FORMAT(IH ,*X-DIRECTION
READ(1,102)N

FORMAT (14)

WRITE(1,103)

FORMAT(1H ,'Y-TIRECTION
REAL(1,102)M
WRITE(1,104)

FORMAT(IH , 'X-AMPLITUCE
REALC(1,102)LX
VRITE(1,105)

FORMATCIH ,'Y-AMPLITUDE
READC1,102)LY
VRITE(1,106)

FORMAT(1H ,'Y-DIRECTION PLOT (ALL(-1>,SELECTIVE(0),NOT(!
ICA="')

READ(1,102)ICA

WRITE(1,108)>

FORMAT(IH ,*ZERO-LINE PLOT(1) OR NOT(O)
READ(1,102)11
WRITE(1,112)
FORMATC(IH ,°'NO.
READ(1,102)IXX
WRITE(1,113?
FORMAT(IH , 'NO.
REAC(1,102)1YY
IFCICAY119,118,117

DO 120 I=1,31

1EC1) =}

CONTINUE

GO TO 122

Lo 114 1=1,31

1E(1)=0

CONTINUE

WRITECL,115)
FORMAT(IH , "COLIMN NO.
REAL(1,102,EiD=122)1
IE() =]

GO TO 116
WRITE(1,123)
FORMAT(IH ,*SMOOTH LINECO),EOTTED LINEZC(1) 1L0T=*)
REAL(1,102)I1L0T
IF(ILOT.EQ.0) GO TO 117
VRITEC(1,124)

FORMAT(IH ,'LENGTH OF LOWN
READ(1,102)LD
VRITE(1,125)

FORMAT(IH ,'LENGTH OF UP
REAL(1,102)LU
WRITECI,121)

OF LATA TAPE (<%) NIT=')

N=')

M=*)

LX=*)

LY=')

11=")
OF ROV IXX=">

OF COLUMN 1YY=*)

TO PLOT IECI)=],1=')

LC=")

VAT A NN Rt

126

107

3 IFC(IROVW.EQ.0)
L0 9 1=1,20

Lo 10 J=1,31
1EXCHG=21-1

IACCIEXCHG, J)=IA(MNET, I, )
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YT CTTHHIRIZNEBESG LT, E|EEL
5 OEMNBEATICEAR, Lrdfw Ll (HU
COFEMIZTE) oYU BAKTEIBDORG L

121 FORMAT(IH ,° NGE NOW ; NO(0),YES(1) 1IROVW=")
RIAT{L,I0EIF
1,103
¢YH ,'PLOT FIG-2 (0),0R NOT (1) IPF=')

WRITEC1,1C6)
FORMAT(IK ,'PLOT
CCI,102)IPLOTY
WRITEC1,127)

FORMATC(IH ,'START POINT 1YYY=')
REALCI, 102)1YYY

VRITEC1,107)

FORMATCIH )

MANY TIMES IN SUBROUTINE 1PLOTM='?

50 70 8

1BCCI ECHG, I =IB(NRET, 1,Jd)
10 CCNTI
9 CONTINVE
8 L0 7 1=1,31
IAC(21,13=D
IEL(21,1)=)
7 CONTINUE

L0 13 I=l,21
IAC(1,31)=)
IBC(1,313=)

13 CONTINUE
PUP(ED)
CRIVE(ED,0,-1YYY)
IO 16 1=1,1PLOTH
PLOWN(80)
PDOVN (ED)
IXDRI=C(IYY~1)#LXY
ZRIVECE0,IXIR1,0)

IF(N.LT.0) 3D T0 14
PUP(ED)
€0,-1MIR1,0)

PLOUNCED)
PLOVIN(ED)
1XCR1=0

14 IXDR2=(1-1XX)=Y
IYCRI=(12 13=M

CRIVE(EOD.!
PUP(80)
IXCR3=~ (IXCR1+IXIR2)

CRIVE(B0, 1XIR3, ~IYLR1)

CONTINUE

CALL SHACWMCIAC,21,31,1%XX,1YY,1P,1Q,1R,2001,N,M,LX,LY,
*I1CA,11,15,10T,LE, LU, IPLOTM)

PUP(E0)

CRIVE(E0,0,2700)

1F(N.CT.0) GO TO 17

IXDR4= (1 =130 *N+100

GO TO 18

17 INCR4=(IYY-1)4LX+(IXX~1)%N%2+4100

XIR2,1YLR1)

16

RIVE
IF(IPF.EQ.1) CD TO 12
PUP(ED)

PUP (B0
DRIVECED,0,2700)
LRIVE(EOD, IXLR&, D)
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*xx HSUDAQ #wx

DATA TAPE 3 HS'DAL,9-0UTPUT PLEASE

N0. OF DATA TAPE (<5) MNDT=1

1

X-DIRECTIOM N=-30

Y=-DIRECTICN M=20

X-AMPLITUDE LX=15

Y-AMPLITUDE LY=1

Y-DIRECTION PLOT (ALL(C=-1),SELECTIVEC0),NCT(1)) ICA=0
ZERQ-LINE PLOT(1) OR NOT(0) 1I1=1l

N0« OF ROW IXX=21

NO. OF COLUMN 1YY=31

COLUMN NO. TO PLOT IE(CI)=1,I=61121
SMOOTH LINECO),DOTTED LINEC1) IDOT=!
LENGTH OF DOWN LD=3

LENGTH OF UP LJ=3

EXCHANGE ROV 3 NOCO),YES(1)> 1I1RQW=0
PLOT FI1G-2 (0),0R NOT (1) 1IPFe=l

PLOT MANY TIMES IN SUBROQUTINE IPLOTM=3
START POINT 1YYY=2400
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1) BABFHASH: JECTE SPECTRUM
COMPUTER FORTRAN #ga:48, p.100, HZA
o4t (1974).
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